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0 =38gol 21| 1,762,108,000& 1,762,108
= 881,054
< 352,422
i 528,632
0 50K HUE= 1,800,000 1,800
= 900
< 360
i 540
0 SXWAL XA 790,000& 1203 9,480
= 4,740
o= 1,8%
i 2,844
OelolE &ZIHe 64,000 32,000 32,000
= 32,000
o= 12,800
i 19,200
401 AlEHILSOHY] 60,000 30,000 30,000
= 30,000
o= 12,000
i 18,000
01 Al&HI 60,000 30,000 30,000
O OEI0I& HES=AFEHI (2902 )
60,000,000& 60,000
= 30,000
o= 12,000
i 18,000
402 QIZ2EXHE0(HE 4,000 2,000 2,000
= 2,000
< 800
i 1,200
02 QIZFRH2 A 22 (01 M THE) 4,000 0 4,000
O O{EI01E ZHIHI(202) 4,000,000 4,000
= 2,000
< 800
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